Fiche éleve 3

Prénom :

Effectuer les calculs.

Séance 4

864-3= 468 — 50 =
658 — 500 = _
_ 956 - 900 =
1040 - 30 = B
~ 178 — 60 =
915-10 = _
097 _ 7 = 992 — 800 =
87/6- ........ =
Prénom :
Effectuer les calculs.
864-3= 468 — 50 =
658 — 500 = _
_ 956 - 900 =
1040 - 30 = B
~ 178 — 60 =
915-10= 992 — 800 =
297 -7 =

876 - ........




Fiche éleve 3

Prénom :

Effectuer les calculs.

864 — 3 =
658 — 500 =
1040 -30 =
915-10 =
297 — 7 =

468 — 50 =
956 — 900 =
178 — 60 =
992 — 800 =
876- ........




